HEX v ERIG
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E& EE (m) XHE |7 B | R7—1E (B
2H 2,700 2,760 1,530
oF 3/4 2,025 “10m 2,250 1,326
1/2 1,350 1,500 867
1/4 675 672 408
REE
=4 mfE (m) XHE 72— (B | R7—rik (B
£H 600 594 342
=iEE101 |2/3 400[#5m 352 198
1/3 200 176 90
2EE102 210[#75m 192 120
=iEZE103 210[#75m 192 120
=EZE104 60[#J3m 48 24
KEEL05 100[#93m 96 48
RiEZE106 60[#I3m 48 24
IF =EZE107 230[#93m 192 120
2EZE108 230[#75m 192 120
=iEZE109 100{#J3m 70 45
=EZE110 100[#93m 70 45
2EE1LL 80[#I3m 70 45
2EF112 20[#93m 16
=EE1L13 20]#3m 16
KEELL4 20[{#93m 16
RiEZE115 30/#93m 34 12
SEE116 70/#93m 70 45
2= 201 20[{#3m 16 8
RiEZE202 20{#I3m 16 8
oF =EZE203 20{#33m 16 8
REE204 20[{#3m 34 12
RiEZE205 70/#93m 70 45
REZE206 130[#93m 96 48
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= mi& HE KRTE
2 3.800m
1F =H m 12m 5t/
1/2 1,900




